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Section A (30 x 2

For each guestion from 1 to 30, four options are given.

marks)

One of them is the correct answer.

Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the Optical Answer

Sheet (OAS).
1. Study the flow chart below.
No Yes
Animals 5 Does it have a 4- .| Does it have
stage life cycle? "| feathers?
No
Yes v % No
A ¢ Does it have 6 legs? Cr D
No
Y
B
Which one of the following options represents A, B, C and D above?
A B C. D
(O Grasshopper Hen Mosquito Human
2) Dragontly - Whale | Cockreach Duck
1(3) Cockroach Horse Eagle Beetile
(4) Spider . Sparrow Butterfly - Swallow
2. Study the classification table below.
-Methods of Digpersal
A B c D
Lovegrass Shorea Coconut. Rubber
Mimosa Angsana Pong Pong Balsam
Which of the following classification for method of dispersal is EGTFEEL?
A B C D_.
1 (1) Wind Animal Splitting Water -
(2) -Animal Spilitting ' Wind Water
(3) Animal Wind Water Splitting
(4) Wind - Animat Water Splitting




The table shows the eye colours that children inherited from their parents within the
community. The eye colours of the parents are shown at the top of the table.

Eye ‘Mother — brown | Mother — brown | Mether — green Mother — blue
colour of | Father — brown father - blue Father — green Father — blue
parents '

children greet
(%)

bl
e q . |
colour of brown nlue areen bive

-

(1) If both parents have blue eyes, they will have no brown-eyed children.

(2) If the mother has brown eyes, then all her children will have brown-eyes.

(3) If the father has biue eyes, then at least 50% of his children will have blue eyes.
(4) If both parents have eyes of the same colour, than all of their children will have that

same eye colour.

Which part of the flower{proddc ; Jt{)_s;ar_lce which has a §inilaf fiifiction’as:

thelfitimatSperm?

(1} A
(2)B
(3)C
4D



b

The diagram shows the cross-section of an air sacland a capiliary in a lung.

blood flews out ta
. all parts of the body

bload ﬂows in from
all parfs of the badv ~

Dora e —dweees

Which one of the following COIERtY describe the c“c“ig ;g;}[gp;gggigﬁggﬁ;ggx Y. and 27

_ X : Y 4
(1 high Jowr . wigh :
(2) high low high
3) © low . high high
4 - low ' high low

Newly released
'daughter* cell

Organiém X

OrganismiY’

Which one of the following statements about Organisms X and Y is{rie?

(1) Both organisms are uniceliuiar.
_ (2) Both organisms X and Y are likely to be fungi. .
(8) Organism X is fikely to be an animal while Organism Y is a type of bacteria.
(4) Cells in both Organism X and Organism Y have to be fertilized before reproduction

can take place.




Bala-grew his planis in a small tray as shown below. He placed the pot outside in indirect
sunlight and watered them every day.

Aftehadfewweeks, the BIENEIHEC What is the miostlikely.teagon for this to happen?

(1) Overcrowding , .
(2) Not enough water, -
(3) Not placed under sunilight.
{4} Infested by pest

There is a great variety of plants around us.

In what ways are AliH

. They can replenish the air with oxygen

: They are made up of cells that have cell walls.

: They do not move freely from one place ¢ ancther by themselves.

: They can reproduce their own kind if pollination and fertilization take place..

ocOoOw>

1

(Y Aand Doonly .
(2) A, B and C only
{3) B, Cand D only
4) A,B,Cand D




g. The diagram shows the circulatory system in human beings.

Rest of the bady J

Which blood vessels contain oxygenatedbioe:

(1) Aand B
(2) BandC
3) Cand D
4y Aand D




10, Jimmy used a data-logger to fieasiye the. amounts of carbaon dioxide given offiby the
foots and lgaves of a plantat different times of the day. Which one of the following
graphs shows the results he is niGstlikely‘to'get?

Amount of Amount of
ounte .
(1) carbon-diozide '(2) carbon dicxide
leaves ’/ \\' / \~
7 ‘.\ / T [eaves
U roots o ¥ roats
e s time
¥ =y v —= i ka o h g ﬁ
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g g = = =X
= (g-— = =
= =
Armount of ) Amount c_)f )
(3} carbon dioxide carboq dioxide
RN /-"\\ - leaves
N\ f/" '\}/“\ 7 leaves K " <‘
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NSNS roots i ™ roots
= : i = X < time
R o R o S time e} ;’ S b '
3 5 3 3 3 3 s 3a &
o d a 3 5 o =1 5
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The diagram below shows a food web.

Snail ______, BirdA

fganisivis infroddcéd intoithis food web, thiss-org‘gmgrﬁ;j‘qnw(%aﬁgg :
of the following about the number of each organism in this food webfisifiot;

(1) The number of Bird A would decrease.
(2) The number of Bird B would decrease.
(3) The number of plants would decrease.
(4) The number of eagles would decrease.

The diagram below shows a food web.
Ladybirds
Mealy bugs _ Mynah

Maj'_ze: plants — Caterpillars

Which of the following organisms are;secondaryiconsumers?
A : Mealy bugs

B : Ladybirds

C : Caterpillars

D : Mynah

(1) Aand C only
(2) B and C only
(3) B and D only
(4) A and D only




13. Some grasshoppers were kept in a container with holes. The number of grasshoppers
were counted and recorded as shown in the graph below.

holé_q
o
- — — e L
o
a
j=8
(=1
2
0
o
fai]
‘s
@
fai
E
= |
z
i
£

What might haveifiappsrigdial BEZ:

A . All thelwheatlwas eaten up.

B . Alfrogjwas introduced to the container

C - Morewheat was added to the container.

(1) A only

(2) B only

(3) A and B only

(4) A,Band C



Alex and his friends counted the number of organisms that were living in the school
pond. They then plotted the results in the graph shown below.

20
18 —
E 16 B
5
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Which of the following ¢ figichs can they rifakesf graphizes

A : There arevi6 msects in the pond

B : There are[b communities) i iving in the pond.

C : There arei6 populafiofis of flowering plants fn the pond.
D : There are at least # populations of animals.in the pond

(1) Aand B only
(2) Band C only
(3) Aand Donly
(4) Cand D only.




Habitat A COhSIStS of three populations — fruit flies, grasshoppers and frogs.
Which of the following sets of glaphs[correctlg 1 ’\4{3 the changes inthe populatiens of
the fruit flies and grasshoppersiafter a papulation of snakes.is’ mtroduced to the habitat’?

Numiber of fruit flies Number of g[aéghgpper
V 4
& Time - Time
(21 MNumber of fruit fiies Humber of grasshopper
f THITIE : : w  THnE
e Num!aer oﬁ“ fruit fiies. Mumber of gragshopper
¥ & A
= Fime i TG
I‘@umher of ﬁ’uut fiies N&am&én of'gl;assiét opper

I/C

= ime
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16. Keren observed the properties of an object and recorded them down in the table below.

r

1. It has mass

2. If can be bent

3. It does not break easily

4, [t does not take the
shape of any con tainer.

What could the dbijgctbe, and what is the mMaternakthat was gg;._ls}%gggg;j;nﬁj_!g_}ﬁé;z_tfﬁé;éb]é'ct?

Object fhaterial
(1) “ Sponge Foam
(2) Vase Glass
(3} Button : Plastic
(4) Pencil ' Wood

17. © 400 cn® of air is trapped in a beaker as shown in Figure A The beaker is then being
pushed deeper into the water as shown in Figure B.

~———y___ 400 cm?® \L

of air - : )
—— ?cm® of alr

lllllllI

%\

Figure A Figure B
" What should the &l volume of air be in the beaker?

(1) Ocm?

{2) 380 cm?®
(3) 400 cm®
(4) 410 cm®

11




18. The following activities involve changes in the states of water.

X: Laundry is dried.
Y: A glass of cold drink is left on a table for some time.
Z: A tub of ice cream is taken ouf of the freezer.

Which of the following shows the €oFFectp

he follow, e for the ghangein sfafes of waitef for. -
ictivityapove? o

Process
Activity X Activity Y Activity Z
(1) Cendensation- Evaporation Freezing.
2) Condensation ‘Evaporation ‘ Melting
(3) Evaporation - Condensation'.” Freezing
4) Evaporation Condensation . Melling

19. Ginny made the model as shown below. The wires are connected to the two contact
points in the middle of the foldable cards and these cards are made of material A. When
the cards are folded together, the circuit is ciosed.

Foldable

Card (material A) - {Contact points

Foldable
Card (material A)

- The materials used to make the cards U}_fi[qg and contact points are shown below. in
which of the following would the BEIBinot:

notlightilip2:

Waterial A Wire Contact poin{s

{1 Iron =~ Copper Plastic -
(2) Plastic . Copper Steel .
(3) Steel | Aluminium - | Copper
4) Aluminium 1 Silver . Iron

12



Five magnets with their ends marked A to J are joined together as shown.

8jcC D
E G
F .H
! J

magnets?
" H o -
N D A= F
J ' J
| 1
B W £
G
ul
] A 5 | F E
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21. Li Hua wants {oifid"out Whether the(masy of an'object affects’ the armount of
gravitational force it exep:s She pian to conduct her experiment by dropping various
“weights from different he[ghts as shown below.

Adternpt Q

ry , Attempt R

Attempt P 1
- 4 —
[
o : Attempt S
T ! :
1
; ; ? 1kg
N : ' H
: =0 e : 20 em ' 50 cm :
: : : ! 40 cm
1 : A : —
S ST I N T sand
R - N B .t""h-"" e b e Tl e - I - A ,‘_,_4'.:

Whlch’two attempts, P, Q, R or S, should she {is¢

zibunke

p PandQ
)y Pand R
Qand R

) Qand S

22.  An elastic spring is stretched when a mass is hung from it. The spring{exiénds by a
' ~Constant length for every kilogram of mass hung from it. Two masses, 4kg and 6kg, are
stspended ofi two identical springs as shown. -

///////(/////////////////

i5am -

18 em

4 kg

What'is the &igi

(1) 7cm -
(2) 9cm
(3) 12cm
4) 15cm

14



23. Felix shone a torch at an object at different angles. She then drew the shadows
she obsarved as shown below.

Which one of the following objects could Felix bezshiniig‘the torch’at

2

(N

A

24. We are able to see an object because it is either a light source or it is able to reflect light
to our eyes. This is true for what we observed in the diagram below. The arrows

represent light rays.

Based en the diagram, @8atty the lghsolifce and thegbject that STEEIE Iight.

-Light source . Reflects light
(1) B C
1 (@) C B
3) A B
4) A C

15




25. Kate was not able to open the cap of a glass jar. Then, she remembered learming about
heat and friction in her recent Science lesson.

ntaing{_

Cap

Glass jar

i ofithé glass jarinto so that she can easily oper

) inithe st

O 2)

r ‘I . r

t— Water at 2°C SIS — Waterat
C jI-I-Z--— so0cC

(3) )

'3 } -

Water at 28°C T
T _=_—=F Oilatroom
— Pebbles —————-~—_—} {emperafure




* A group of students had 4 containers that were each made of different materials. They
wanted ta find out which container would bestiretain heat

For each container, they carried out 2 experiments, In the first experiment, they
measured the temperature of a cup of 20m! of ice wateriafter 10 minutes. In Experiment
2, they measured the temperature of a cup of 20mi of offFiot water] after 10 minutes. These
2 experiments were repeated for all 4 containers.

Thermometers
Ais NI 12t
i HH
B Tare
snvs {as
umes ar
T L0 H
Containter D

Experiment 1 Experiment 2
Container Temperature of ice water Temperature of hot water
after 10 min (°C) after 10 min {°C)
() A 6 77
(2 8 13 60
(3) C 3 85
4) D 7 68

17




27. Study the diagram below.

\g ) — O

Hand Bowling ball Bowling pins

Which of the following options shows the@f?@é‘th_, onversion:of: energy7

{

(1) | heatenergy _—__ kineticenergy . kinefic energy
of hand of bowling ball ~ of bowling pins

(2) | chemical energy —— kineticenergy —— sound energy

of hand of bowling ball of bowling pins
{3) | Gravitational potential. ' chemical energy kinetic energy
energy of hand > of bowling ball > of bowling pins

(4) | Kinetic energy » Dotential energy . » SOund energy
of hand _ of bowling ball of bowling pins




28.

- 29.

Vick set up an experiment tois see the'effect of running water o a watér, whgeliHe
drilled a hole at the bottom of a tin full of wafer and p!aced the water wheel beneath it.

A
. Fin
—
-Woater wheel
Retort stand }
( ) e T

f the foI!owrng modif cations should Vick make if he wants the water wheel to

Move the water wheel down, further away from the tin.

S:
T: Move the tin to 2 height at Position A.
U

Increase the size of the hole.
V: Increase the size of the tin.

(1 SandV
) Tand V
(3ySand U
(@) Tand U

Ahidah set up an experiment as shown below. She noticed that when she lit the candle,

e paper spiral started to spin.

' ... Paper spiral suspended in
| the glass beaker

[ Glass beaker

o ) — Candle
[ y \ J— T

!

Which of the following statements BESHEXBIAINED her observation? -

(1) The spiral expanded and started spinning.
(2) The air in the glass beaker expanded and pushed against the glass beaker.
(3) Kinetic energy of the moving air is converied to-kinetic energy in the spiral.

(4) Heat energy inn the candle is converted directly to kinefic energy in the spiral,

19




30. Khan threw a basketball és shown.

Wthh one of the fallowing graphsic Birectly shoWs the energy’ s
Corivérsioris that occur, betwee'n X, and_‘{‘?

} i Energy A Kinetic
/ energy
Potenticl

energy

Time

: }%‘ Energy A4 :
. \ Kinetic

energy

Potential
energy

Ener A .
;&{ oy Kinetic

energy -

Potential
energy

—
>

Time

ﬁ)&{ Ener A . -
nerdy Potenticl
energy

Kinetic
enargy

Time

——————— — End of Booklet A —----——
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Section B (40 marks)

For questions 31 to 44, write your answers in the spaces provided.

31. Study the chart below.

Cannot move Fungi
from piace {o o Plants
place by ‘
themselves .
/ Y
Fungi - Nutrition,
Animals b Movement :
Piants / \
. v . )
Can make Cannot
Can move their own . make
from place fo food. their own
place by food.
themselves
\ A L Plants - Fungi
X
(a) What does X in the chart aboVe represent? : . (1m)
(b) Based on the above chart, in what way are fungi and plants siméilar? (1m)

21



32. Study the flow chart below carefully.

Yes

Reproduction Methed

1

v

Does the
female lay
Yes eggs? No
Does the -
young Is it an
resemble omnivore?
) No
the adult? Yes No
1 B: C:

(a) Put the following animals: lizard, zebra, man and dragonfly in the boxes above. (2m)

[{s)] Name an organism that is a mammal but lays eggs.

(1m)

22




33. The two pie-charts below show the percentage of animals in two Leaf-litter communities

(a)

(b)

()

(d)

A and B. Both Leaf litter communities A and B have the same total perceniage of
organisms. Study the statements that follow and state whether they are true (T) or false
(F) or unable to fefi {U}.

Cenlipede

Kilipede Termila

VWoodlice

. Termile
Woodiice
Cenfipede
Eardhworm
Earthworm Mil!ipede
Leaf litter A Leaf litter B {
WWrite the letters T, F or U in the boxes. ' (2m)

in Leaf litter A, there are more termites than the combined
total of the other groups of animals.

~ The centipedes in Leaf litter A is likely to increase because -
of the abundance of food supply.

The number of centipedes in Leaf ‘Eitt_ger B is less than that of
Leaf iitter A. ' '

Leaf litter B has a lower percentage of termites than in Leaf
litter A.

23



34.  The graph below shows Samy’s pulse rate over a period of one hour.
Pulse rate / beats per minute

4
r A
10077

80 1

40 +

20

v

Time / Min

(a) What was Samy’s pulse rate when he is at rest? (1m)

(b) What was Samy’s»ma;dmum puise rate and how long 'dia it last? ) (tm)

(c)  Samy stopped running at point A. Explain why it took some time for SamyVs-plilse rate
to return to his original reading at the start? (1m)

24




35.

(a)

(b)

The graph below shows how the popuiations of two fypes of living things, X and Y, in a
certain community change over fime. '

- Number of organisms
A

¥ Time
Describe how the population of X changes as the population of Y changes. {2m)
What could bé the relationship between org‘a‘n'isms XandY? _- ) : (im)

25



36.

(a)

(b

The diagram shows a terrarium, which is a[églf—sustaining commurﬂ of small planis
living in a sealed glass jar.

sealedglassjar =~

After putting the layer of soil and adding in the plants, what must be done before

sealing the glass tapk? (1m)
Where-shoutd the terr_arium‘be placed to ensure healthy plant growth? (1m)

()

t

Exmaiz{im detail how the plants in the terrarium get thé carbon dioxide, oxygen and
Awvater tosurvive. : : ' (2m)

26




| 37. Look at the diagram of the set-up below.

Tank B

Tank A

Tank A contains both male and female guppies while Tank B contains only fernale
guppies. All other factors were kept the same to make it a fair test. After six months, it
was observed that the number of guppies in Tank A had increased while that in Tank B

had decreased. :

(a) Give the most likely reason for the decrease in the humber of guppies in Tank B if all
other factors were kept the same for both tanks? . {1m)

(b)  Name 2 faciors that Were keptthe-same to make it a fair test. . (2m)

wieeci— End of Bookiet Bt wmme---mmr
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38. Study the flow chart carefully.

[ Material J

“ high
melting point

conducts
eleciricity

decomposes waterproof

Yes

can be bent
without breaking

Yes

‘Write the correct-letter A, B, C and D to match the materials given below;

{a) Porcelain :

(b) Silver

(c) Rubber

(d) Paper . | i ‘ (2 m)

28



39.

(@)

)

A beaker of water was left in a room with a temperature of -5 °C for some time as
shown in Figure 1.

A

Figure 1

After some time, the beaker is taken out of the room. Draw what you would
observe in Figure 2. (1 m)

after some time

Figure 2

From the above observation, state one property about solid and liquid that this
set-up demonstrates. (1m)

29




40. Four electrical circuits using similar batteries and bulbs are shown below.

N
R/

Circuit A Circuit B

-

Y

Cireuit C ‘ Cirevit D
(a) In which two circuits are the bulbs with equal brightness? . (1 m)
(b) State one advantage of arranging batt_eries asin Circqit B (1 m)

{c) Jane's mc_ﬁther/édvised her not to use the umbrella during a lightning storm on a
rainy day. Wiy did Jane's.mother advise her against using the umbrella? (1.m).

30



41, A steel nail is suspended freely midway between 2 similar iron bars, A and B.

lron
Bar A

| swichA | —>/

— 7 3
lron
AN AN A A58
ey
vyl

Steel nail

(a) What will happen to the steel nail if only Switch B is closed?

— [swtone

(1m)

b) What will happen to the steel nail if Switch A is now aiéo closed?

(1 m)

(c) Explain the observation in {b).

(1m)

31




42.

(@)

(b}

(c)

Mary added some ice-cubes info a basin of tap water, Then she placed a test-
tube of water into the basin as shown below. She also placed two thermometers
into the set-up; one into the basin of water and ice, and the other into the test-
tube as shown in the diagram here. '

0°C

- Test-tube

Basin —

After some time, the ice cubes started to melt. What caused the ice cubes to
melt? {1m)

Which one of the following options is most iikely the Aeempetatures of the water in
the test-tube and the basin after 10 minutes? Tick the cokréet bracket below.

(1 m)
After 10 min, temperature of water in: -
Test-tube © Basin Tick [
50°C 70°C | [ ]
70°C 10 °C - [ ]
sgoecc |  o°C | { 1
In the above set-up, when will the transfer of heat étop? {1m)

32



43. A torchlight is shone on a pencil and a shadow is formed en the white screen.

Shadow of
pencil

White screen

]

0 x
O %
U X

A

{a) At which positipti, A, B, C or D, will the pencil cast the smailest shadow? (1 m)

(b) If a ting is placed on the pencil as shown below, what would the shadow on the
screen be?

— ?

White screen

==

Tick the correct option. (1t m)

33




{c)

44.

(a)

)

Some objects allow all or some light to pass through while the others do not.
Place the Tollowing items, “Whiteboard”, “Frosted window panel” and “Cling wrap”

in the classification table below, (1 m)
' ™\
Objects
. —
I ' 1
r N N
Allows all light to Allows some light Does not allow any
pass through to pass through light to pass through
A - vy \N B o .
e N ) — N - - J
\ / ___J N -

The diagram below shows the movement of a balf when it bounces.

Starting position

é-.-j 4172
4
37 A E

B 04’ ol
-

é"w‘ﬁi o o7 - F
__,_)V .

State the position where the ball has no kinetic energy (1 m)

Complete the energy conversion from Position A to C by stating only the main

energy involved . {1m)
— + —
N J
Y .
At position A At position B At position C

34



()

Explain why Position E will never be as high as Position A?

{2 m)

—eee— End of Booklet B2 ---wmw=---
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31)a)It represents animafs.
b)They cannot move from place to place by themselves.

32)a)A: Lizard B: Dragonfly C:man D: Zebra
b)Platypus.

33)a)f b)T cU d:T

34)a)70 beats per minute.

b)100 beats per minute. It lasted for 20 minutes.

c)His heart was still pumping blood rich in oxygen and food to muscles for
energy to make up for the loss while he exercised.

35)a)When the population of Y decreases, the population of X increases.
When the population of Y increases, the population of X decreases.
b)The prey is Y while X is the predator.

36)a)Water the plants and soil.

b)It should be placed at a place where there is sunlight or light.

c)The plants used the carbon dioxide released by the plants during
respiration photosynthesis. In return, when the plants photosynthesis, it
releases oxygen for the plant to carry out life processes. The water vapour
released during respiration will be recycled to provide water for the plants.

Page Lto 2 page 1




37)a)There were no male guppies in Tank B, so they could not reproduce new
guppies, thus, when some guppies died, the population of guppies in Tank B
decreased. :

b)The number of water plants in each tank and the the temperature of the
water in each tank.

38)a)8 bJA c)C d)D

39)a)
e

b)Liquid has no definite shape but solid has a definite shape.

40)a)Circuits C and D.

b)The bulb will light up for a longer period of time as only one battery is
required to light up the bulb at any one time.

c)Lightning is a form of electricity. Her umbrella is make up of metal,
which is a good conductor of electricity and aflows electricity to pass through
easily. Jane could be electrocuted.

41)a)It will more towards Iron Bar B.

b)It wili move towards Iron Bar A.

c)Electromagnet A has more coils, it is a stronger magnet than
Electromagnet B, causing the steel bar to swing towards it.

42)a)The heat from the water in the basin and the water in the test-tube.
b)Y720C 10C 4
c)When the water reaches room temperature.

43)a)Position D.
b)

J
c)Cling wrap Frosted window panel White board

44)a)A.

b)Gravitational Potential energy-> Gravitational Potential energy+Kinetic
energy->Kinetic energy.

c)When the ball is at position C, some energy is converted to heat and
sound energy, thus, the amount of kinetic energy to be converted to
gravitational potential energy is less resulting in the ball bouncing to a lower
height.
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